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SECTION A

S. No.

Marks

CO

Q1

The IUPAC name of the compound CH3CH2OCHGz is
(i) Ethyl methanol

(it) Methyl ethanol

(iii) Ethoxy methane

(iv) Methoxy ethane

Co1

The common name of CH,=CH-CHO is
(1) Vinyl aldehyde

(if) Allyl aldehyde

(iif) Acrolein

(iv) Propioaldehyde

Co1

State True/False
The IUPAC name of CH;CONHCH3 is N-methyl acetamide.

Co1

Q2

A student heats ethanol with acidified potassium manganite (V1) solution.
Ethanoic acid forms in the reaction. What is the colour change seen in this
reaction?

(i) colourless to orange

(if) colourless to purple

(iii) orange to colourless

(iv) purple to colourless

CO3

When phenol is treated with excess bromine water it gives
(i) m-bromophenol
(i) o- and p-bromophenol
(iii) 2,4-dibromophenol
(iv) 2,4,6-tribromophenol

CO3

State True/False

On nitration of benzaldehyde, NO> group occupies o,p- position of benzaldehyde.

CO3

Q3

Dehydration of alcohol is an example of
a. addition reaction
b. elimination reaction
c. substitution reaction
d. redox reaction

CO3




Acetic acid on heating at high temperature forms
(1) Succinic anhydride

(i) Acetic anhydride Cos3
(iii)  Acetyl acetate
(iv)  Methane
State True/False CO3
The least basic compound among CHsNH,, (CH3)2NH, NH3, CeHsNH. is NHs.
Q4 An organic compound A containing C, H and O has a pleasant odour with boiling
point of 78°C. On boiling A with concentrated H.SOj, a colourless gas is produced
which decolourises bromine water and alkaline KMnOs. The organic liquid A is
(1) C2Hs0H COo3
(i)  CHsOH
(il)  CHsOCHs
(iv) CHsCOOH
Catalytic dehydrogenation of a primary alcohol gives a
(i) Ketone
(i)  Aldehyde COo3
(iii)  Alkene
(iv)  ester
State True/False
Nitrous acid is used as catalyst for the esterification of carboxylic acid and COos3
alcohol?
Q5 Chloro ethane reacts with X to form diethyl ether. What is X?
(1) NaOH
(i)  Cz2HsONa CO3
(iif)  H2SO04
(iv)  Na»S:03
Select the acetylating agent
(i) CH3COCI
(i)  (CH3CO).0 CO3
(iii)  Both
(iv)  None
State True/False Co3
C2Hs0OH will not give iodoform test.
Q6 The most convenient method to prepare primary amine containing one carbon
atom less is
(1) Gabriel phthalmidie synthesis CO3
(i) Reduction of nitroalkanes
(ili)  Hofmann bromamide reaction
(iv)  Reduction of cyanides
Acetone can be reduced to propane in the presence of
(i) Ni/Pt
(i)  Zn-Hg/conc. HCI COo3
(iii)  LiAlH4
(iv) All

State True/False

CO3




LiAlH4 does not reduce CH,=CHa>.

SECTION B

Q1

Give reasons:
a. n-heptane has higher melting point than n-octane.
b. Acetyl chloride is more reactive than acetic acid.
c. Acetamide is less basic than ethyl amine.

3+3+4

Co1

Q2

Complete the reactions with mechanism:

o 51 H+ Q

o H

T tmen s 2 g
o> Hv© -~

10

CO2

Q3

What happens when
a. Glycerol reacts with oxalic acid
b. Phthalic anhydride reacts with phenol in the presence of conc. H2SOa.
c. Acetamide is heated with Br, and aqueous KOH.

4+4+2

CO3

Q4

Write down the mechanism of the following reactions:
a. Allyl phenyl ether is heated at 200°C.
b. Benzaldehyde reacts with acetic anhydride in the presence of sodium
acetate.

10

CO2

Q5

State Huckel rule and classify the following species into aromatic or antiaromatic

N () Ko

a. b.

10

Co1




SECTIONC

Q1

Conversions:

(i)  Ethylene to acetone

(i)  Ethyl chloride to acrylic acid
(iii)  Ethane to succinic anhydride
(iv) Etnyl amine to n-propyl amine
(v)  Acetylene to acetophenone

OR

a. Predict the products from the following reactions:
Anhy. AlCl3
(i) C¢Hg + CO + HCl —
(ii) CH;CH,COCH,CH,
A
(iii) CH;CHOHCOOH —

) Alk. KMnO,
(iv) CH, = CHCOOH ——5

CH3CH;MgBT /Hy0

b. An ester CgH1602 was hydrolyzed by heating with water when an acid ‘A’
and an alcohol ‘B’ were obtained. Oxidation of B with sodium dichromate
produced another acid ‘C’. Both ‘A’ and ‘C’, on fusion with solid NaOH
yield propane. What is the structure of the original ester? Write all the
reactions.

c. Anorganic compound ‘A’ with molecular formula C3HsO reacts with HCN
to form ‘B’. ‘B’ on hydrolysis forms another compound ‘C’ with on
dehydration forms crotonic acid. Deduce the formula of all the compounds
and complete the reaction series.
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7+7+6

CO3




